2RXS J044118.9+205410

gamm*bbdy

931312 0129

o —
o -~
+ |
=] =
™ <
— ©
o —
Il

()

®

[ ]
o] b
()]

o, 2
[72] =

+- 2.82E-02

1.00E-03

+- 7.21E-03

1.53E-01

T [keV] =

+- 4.17E-03

2.51E-02

Norm

+
+
H;

Hi 1111

Ll

LLLLLEL B R LR LLLLLLL [T
(@]
o
S
Qo
4
~N
>
o1))]
[
()
o
=
o
—]
o
TN TN TN TR
T < v Y
(@] o (@] (@]
—] q—] ] i
(A93 s zwd)/suojoyd
ILLLARE . T T T 1 LRI B B
(@]
| o
- = >
[ ()
B e
~N
B >
o))}
B ~
== ()
I o
=
(@]
— —
n o
i1 IETE N A TR
] O -l
o o |
— — (@)
i

(A®Y s)/s3uno)

*NOC\IIQI'

s[enpisay

1.00

0.10

66

X2req = 1576

Energy/keV



